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The figures in the margin indicate full marks
for the questions =

1. Choose the correct answer . from the
following : 164 1x8=8

(@)  Who gives the concept of AGIL model?

(i) Talcott Parsons
(i) Max Weber \
(i) M.N. Srinivas

(iv) Cooley
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(4)

(d) Social construction of reality
(¢) Meaning of AGIL Model

3. Answer any four (within 500 words each)
from the following questions : | 14x4=56

() Discuss the concept of symbolic
interactionism given by G. H. Mead.

(b) What is Bourdieu’s theory of kpraétices?
Discuss. .

() Which analytical vi"ew is presented by
Levi-Strauss? What is the essence of
culture for him? “faa ) 4+10=14

(d) Critically  examine . the social -
construction of reality. '

() Discuss Max Horkheimer’s critical
theory on cultural industry.

(/) What do you mean by functionalism?
Discuss various sociologists’ point of

view on functionalism. 4+10=14
* %k Kk
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